Organic Chemistry T(CHM 335) Fall 16 Dr. Hahn MW am Quiz | GFTW Exam#

tgn Name { ¥ Print Name -
F"im‘-,(, show work on all qu@fom for parttal ¢ redit even on questions which do not specify. {30 total pia)

1. Ciive the ele r.,tmn mnhgumtmn for tht LILTHLTIE Br. {6 ptq) -
i ? C
2 (a) Given the f{ﬁli(‘s }:, hlurr i Ci’{buidtt the t’mmbu of ddh,nu, clec ﬁnm 1or IhL molecule Ahaw

work, €Oz BrH (6pts) G & 2) o+ é”] —+ Hl = G e '6(\\

() Given the following 2 Lewis [“Jut \Lruuum‘t‘.‘ﬂm the formula aboved, cirele the correct one. {4 pty)
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3 V‘%FPI\E Given thc Lewls Dot structure which vou chose above in (2b), for the atom with thu

What is the number of electron domains (VSEPRT Liu,trcm pairstaround the atom with the ¥
{2 pts each, 12 pts total) Q::

How many lone pairs on the atom with the *

What is the structure of the clectron pairs at themmton with e o (ﬁﬁ mﬂ _r_f@

What is the structure of the motecule at the * @ f,d\f‘L__ ({# /B ——
Draw tnn dipole moment arrows tn the Lewis Dot structure wimh vou Erose above in .Z’,!"_s).

MName the intermolecular force for the molecute which you chose above in (2b) Q
& Erigemad

Wb ey xfutng Ldg ol # 2o G5 LJQIB 7Y, 724
4, (iven the following mold uic, fill in the pamnthmza with the letter of the functivnal 2TOUp.

{AYalkene  (Bralkyne {Clarenc (I alkyl halide (I alcobol  (F)ether ({5} amine

(Fyaldehyde (I} ketone  (J) carboxylic acid  (Kyester (L) amide (M) acid halide (MY acid
anhvdride (You may use the same lefter muilipie timt':*:) (4 pts each. 12 pts total)
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5. For ét;‘ fotlowing condensed molecular formula, write out e skeletal molecular forfula, (10 pts)
é" I~ CHHCTL Y 5
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Extra Credit:  Name the molecule above in #5 using TUPAC rules,
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{6 pts) e




Organic Chemistry T{CHM 333) Fall 16 Dr. Hahn MW am Quizt 97W Exam#

Sign Name Print Name
Please show work on all questions for partial credit gven on quuhnn\ “which do not a;mufw (30 total pts)

i Give the electron configuration for the element Br. (6 pis)

2 (a) Given the following formula, caleufate the number of valence electrons for the molecule, Show
work, O O2 BrH (6 pts)

(h) Given the following 2 Lewis Dot structures {for the formuta above). circle the correct ane, (4 pts)
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O oo ¥ B Hurm () Ty
3 VSEPRT:  Given the Lewis Dot structure which you chose above in (2h), for the atom with the *
a1 What is the number of electron domains (VSEPRT electron pairsharound the atom with the * _
(2 pis each, 12 pts {otal)
by How many lone pairs on the atom withthe *
2} What is the structure of the electron parrs at the atom with the
4Y What is the structure of the molecule at the * o
¢) Draw in dipole moment arrows in the Lewis Dot structure which vou chose above in (2b),
) Name the intermoleeular force for the molecule which vou chose ahove in (2h),
4. (Given the hﬂluwmg IT‘JCFILLU]L fill in the parenthesis with the letter of the functional LTOUP.

(AVYalkens (Blalkvne (Clarene (D) alkyl halide  {(E)alcohol  (F)ether (i) amine
() aldehvde (D) ketone  {J) carboxylic acid  (K) ester (L) amide (M) acid halide  {N) acid

anhydride (You may use the same letier multiple times) (4 pts each, 12 ptsotaly b o
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3, For the {ollowing condensed maoleeular formula, write out the skeletal molecular formula, (10 pa}
CHCHz “CHACH):
(’_'._‘.I-I
7= £ €Hr-CHyCHy-CH:
{ Ha

Extra Credit: Name the molecule above in #3 using TUPAC rules. (6 pts)



